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(i) There are two sections in this question paper. Section-I contains 5
questions and Section-II contains 13 questions. All questions are
compulsory.

(i) Marks allotted to the questions are mentioned against them.

(iii) Read each question carefully and answer to the point.

(iv) Four options are given in answer of each multiple choice question in the
guestion paper. Write correct option in your answer book.

(v) Very short answer type questions carrying 1 mark to be answered in
about 10 to 20 words.

(vi) Short answer type questions carrying 2 marks to be answered in about
40 to 60 words.

(vii) Long answer type questions carrying 3. marks to be answered in about
100 to 120 words.

(viii) There is no overall choice in this question paper, however, an internal

choice has been provided in few questions. Attempt only one of the given
choices in such questions.
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gus - 1
(Section - I)

1, Fr=foRed & 9§ oi-w1 331 1 e | &- 1
(i) ERZAT (i) DR (iii) oS! (iv) et
Which of the following sources of energy is renewable-
(i) Solar Energy(ii) Coal (iii) Wood (iv) Petrol
2. WROT & IBR & 1
(i) &SRO (i) 3R SRoT
iy (i) @ (ii) S (iv) &9 9§ B &
The types of motivation are-
(i) External motivation (ii) Internal motivation
(iii) Both (i) and (ii) (iv) None of these
3. U® 3TN A -2 ¥ A TE 0T 8 TP 1
What two main qualities should be there in an entrepreneur?
4. ICT ¥ 31U &7 |99eTd &7 2
What do you understand by ICT?
3dar/OR
HILR DI TEHA TF IBIEG 37T B BUT?
How will you do the computer care and maintenance?

5. Hikae FOR 74T 8?7 AiRe® HuR & @1 d JHaH B quiH HisTe| 3

What is verbal communication? Describe the advantages and disadvantages of

verbal communication.
314dr/OR
THTAT IR DY @ TEN3T BT Ie0E BT

Mention the main barriers of effective communication.
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gus - II
(Section - II)

a5/ &1 Ot va. 9 fo1 8 &7 1
What is the pH value of Irrigation water?

(i) 5.5-6.5 (i) 4.5-5.5

(i) 6:5-8:5 ¢iv): 5:5-8.5

HeRTgoreH o gfaen & fore fgt &1 o feam B sfceas ugan anfge? 1
To facilitate solarization the soil temperature should reach _____ degree Celsius?
(i) 400C-440C (i) 44°C-500C

(i) 359C-40°C (iv) 4609C-520C

SR 20 e ... BT B 3 e 1 :
(i) HIaT (i) W

ity (i) T (i) (iv) T | Pl T

Pheromone trap attracts --------- insects only.

(i) female (i) male

(i) (i) and (ii) (iv) none of these

R ® TR & {70 THICR & el Y Bels DY RN & 1
(i) T T ° (i) &R [P ERT A

iii) R 3o § (iv) Yo §HT TROT H

Tomato fruits for distant markets should be harvested at-

(i) Red Stage (i) Green Stage

(iii) Ripe Stage (iv) Overripe Stage

foimer Rag & ... & W9 § ST 7§ 1
Sprinkler irrigation is also known as

i 39 37T BT B WM &, ﬁwmmé? 1
What we call the organism that feeds on other insects?

31S. 0. TH. BT B B a1 &7 1

What is full form of I.P.M.?
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13. cHEx & diel 3§ ‘376 efge AT AT 87
What is the 'early blight disease’ in tomato plants?
14. 37R-BE (TR HIUT) & TTH TARC
Give the advantages of inter-cropping.
3AJd1/OR
cHTeR ol WS & IR § Wi # faRav|
Write in short about tomato's grading.
15. IST & Be # BRUGAR 0T & faftm aiel o e § g
Explain in short different methods of weed control in vegetable crops.
16. UG I UG BT JUH DIoTe|
Describe integrated disease management.
3Jdi/OR
THIGd dic JU BT JuiH BHifTe|

Describe integrated pest management?
17. THIER & URUGAdT Gadbid BT A aui Hifore|
Describe the maturity index of tomato with diagram?
18. T2u e wometl & 3udnh 87 3arexvr |fed 99sisd|

How is drip irrigation system useful? Explain with example?

% %k %k %k k
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